
Name: __________________________ Multiple-Step Problems; Multiplying Money

The Fruit Stand

   1. Marlena buys seven oranges and five bananas.
 What is the total cost?  Show your work. answer: _______________

   2. Paco buys a half dozen peaches and four apples.
 What is the total cost?  Show your work. answer: _______________

   3. Sarah buys an apple for herself and another one for her
brother.  She also buys two peaches.  What is the total cost?

 Show your work. answer: _______________

   4. Would it cost Bob more to buy all of the oranges at the
fruit stand or all of the apples?  Show your work. answer: _______________
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Name: __________________________ Multiple-Step Problems; Multiplying Money

The Fruit Stand - ANSWERS

   1. Marlena buys seven oranges and five bananas.
 What is the total cost?  Show your work. answer: $3.34

 Oranges:  7 x $0.27 = $1.89
Bananas:  5 x $0.29 = $1.45
Total:  $1.89 + $1.45 = $3.34

   2. Paco buys a half dozen peaches and four apples.
 What is the total cost?  Show your work. answer: $4.28

Peaches:  6 x $0.48 = $2.88
Apples: 4 x $0.35 = $1.40
Total: $2.88 + $1.40 = $4.28

   3. Sarah buys an apple for herself and another one for her
brother.  She also buys two peaches.  What is the total cost?

 Show your work. answer: $1.66

Apples: 2 x $0.35 = $0.70
Peaches: 2 x $0.48 = $0.96
Total: $0.70 + $0.96 = $1.66

   4. Would it cost Bob more to buy all of the oranges at the
fruit stand or all of the apples?  Show your work. answer: It would cost

more to buy the
Oranges:  9 x $0.27 = $2.43 apples.
Apples: 8 x $0.35 = $2.80
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